MOTOPLASTIC, S.A. Tel. +34 93 849 06 33
Pg. de la Ribera, 29 - 08403 Granollers (Barcelona) SPAIN
info@puig.tv info@puigusa.com
www.puig.tv www.puigusa.com

) ot /- 4

Racing Screerrs

CUPULA ADAPTABLE A - SCREEN FOR - WINDSCHUTZSCHEIBE FUR

Ref.: 8909

(Mod. SPORT)

Ref.: 8910
[ medToRNG |

r Mod. SPORT 7 r Mod. TOURING

ID. | PIEZA/PART | DESCRIP

Cipula SPORT

SPORT screen (Ref. 8309)

1 1 X © ALLEN

Capula TOURING

TOURING screen (Ref. 8910) Ne3

N° 5

g
z
5 Tornillo Allen M5 30150 7380 . | .
M5 x 30150 7380 Allen screw é . i
3 Arandela de goma M5x4 4 = ; .
M5x4 rubber washer E 1%‘2?3)"; 10 min Dificil-D
v

Pg. 1/2



MOTOPLASTIC, S.A. Tel. +34 93 849 06 33

Pg. de la Ribera, 29 - 08403 Granollers (Barcelona) SPAIN
info@puig.tv info@puigusa.com
i www.puigusa.com

Racing Screerrs www.puig.tv

CUPULA ADAPTABLE A - SCREEN FOR - WINDSCHUTZSCHEIBE FUR

Arandelas originales
Originals washer

Arandelas originales

Created by: www.ciandisseny.com

/
Arandelas originales | = y —
Originals washer — / Originals washer

Pg. 2/2



y 4 MOTOPLASTIC, S.A. Tel. +34 93 849 06 33
p”’ Pg. de la Ribera, 29 - 08403 Granollers (Barcelona) SPAIN
info@puig.tv info@puigusa.com

Racing Screerrs www.puig.tv www.puigusa.com

VISERA MULTIREGULABLE

CUPULA TIPO
TYPE WINDSCREEN

CUPULA TIPO
TYPE WINDSCREEN

L Sy
ALLEN
CUPULA TIPO ©
TYPE WINDSCREEN (@)
IDER=
()
(@)
(4
) Ne 4 Q7
P = - ‘:'= “ i .1‘ 2 ‘ . —
= . Med
Nota/Note:
Si la visera se suministra con la ctpula Puig, no sera necesario realizar los agujeros por que ya vienen incorporados. 1 persona ) Dificil-
If the visor is supplied along with the windscreen, the windscreen will come factory-drilled so no drilling is necessary. 1 person 15 min
ID. PIEZA / PART | DESCRIPCION DESCRIPTION QTY.
[~

| \\

1 \\ \ Visera Visor 1

2 ’ e o Plantilla Template 1
0o o 'g
3 >z Mecanismo multiregulable Multi-adjustable mechanism 2 8
4 j Tapeta Cap 4 3
3
3
5 @ Tornillo rosca plastico M6x12 Plastic thread fastener M6x12 8 §

Pg. 1/4



MOTOPLASTIC, S.A. Tel. +34 93 849 06 33

Pg. de la Ribera, 29 - 08403 Granollers (Barcelona) SPAIN
info@puig.tv info@puigusa.com

Racvng Screerrs www.puig.tv www.puigusa.com

VISERA MULTIREGULABLE

TIPO/TYPEA - TIPO/TYPEA - TIPO/TYPEA

ZONA DE CONTACTO CON LA CUPULA Utilizar un taco de madera en la parte posterior.
CONTACT SECTION WITH THE WINDSCREEN Use a wood block on the other side

tilizar broca de @ 7mm, especial para plastico.
se @ 7mm drill for plastic.

Chaflanar los 4 agujeros por ambos lados.
Chamfer the four holes on both sides

- Par de apriete tornillos N° 5 (1,3Nm). / - Tightening torque for screws n°5 (1,3Nm).
- Anzugsdrehmoment Schrauben N° 5 (1,3Nm)

Pg. 2/4



MOTOPLASTIC, S.A. Tel. +34 93 849 06 33

Pg. de la Ribera, 29 - 08403 Granollers (Barcelona) SPAIN
info@puig.tv info@puigusa.com

Racvng Screerrs www.puig.tv www.puigusa.com

VISERA MULTIREGULABLE

TIPO/TYPEB - TIPO/TYPEB - TIPO/TYPEB

ZONA DE CONTACTO CON LA CUPULA Utilizar un taco de madera en la parte posterior.
CONTACT SECTION WITH THE WINDSCREEN Use a wood block on the other side

tilizar broca de @ 7mm, especial para plastico.
se @ 7mm drill for plastic.

Chaflanar los 4 agujeros por ambos lados
Chamfer the four holes on both sides

- Par de apriete tornillos N° 5 (1,3Nm). / - Tightening torque for screws n°5 (1,3Nm).
- Anzugsdrehmoment Schrauben N°5 (1,3Nm)




MOTOPLASTIC, S.A. Tel. +34 93 849 06 33

Pg. de la Ribera, 29 - 08403 Granollers (Barcelona) SPAIN
info@puig.tv info@puigusa.com

Racvng Screerrs www.puig.tv www.puigusa.com

VISERA MULTIREGULABLE

TIPO/TYPEC - TIPO/TYPEC - TIPO/TYPEC

, ZONA DE CONTACTO CON LA CUPULA Utilizar un taco de madera en la parte posterior.
v,"q_\‘ CONTACT SECTION WITH THE WINDSCREEN Use a wood block on the other side
! T ~ 0

Utilizar broca de @ 7mm, especial para pléstico.
Use @ 7mm drill for plastic.

Chaflanar los 4 agujeros por ambos lados.
Chamfer the four holes on both sides.

Created by: www.ciandisseny.com

- Par de apriete tornillos N° 5 (1,3Nm). / - Tightening torque for screws n°5 (1,3Nm).
- Anzugsdrehmoment Schrauben N°5 (1,3Nm)

Pg. 4/4



